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venue recognition principle dictates that revenue should be recognized in the accounting records
when cash is received.

when the performance obligation is satisfied.
at the end of the month.

in the period that income taxes are paid.

2. Prepaid expenses are

a.
b.

C.

d.

3. Company A sells ¥8,000 of merchandise on account to Company B with credit terms of 2/10, n/30. If

paid and recorded in an asset account before they are used or consumed.

paid and recorded in an asset account after they are used or consumed.
incurred but not yet paid or recorded.

incurred and already paid or recorded.

Company B remits a check taking advantage of the discount offered, what is the amount of Company

B's check?
a. ¥5,600
b. ¥7,840
c. ¥7,200
d. ¥6,400
4. In a perpetual inventory system, cost of goods sold is recorded
a. on a daily basis.
b. on a monthly basis.
c. on an annual basis.
d. with each sale.
5

. Using the allowance method, the uncollectible accounts for the year is estimated to be $56.000. If the

balance for the Allowance for Doubtful Accounts is a $14,000 credit before adjustment, what is the

amoun
a.
b.
C.

d.

t of bad debts expense for the period?
$14,000

$42,000

$56,000

$70,000
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6. When a note receivable is dishonored,
a. interest revenue is never recorded.
b. bad debts expense is recorded.
c. the maturity value of the note is written off.
d

. Accounts Receivable is debited if eventual collection is expected

7. Acoal company invests €12 million in a mine estimated to have 20 million tons of coal and no residual

value. It is expected that the mine will be in operation for 5 years. In the first year, 1,000,000 tons of
coal are extracted and sold. What is the depletion expense for the first year?

a. €600,000

b. €240,000

c. €60,000

d. Cannot be determined from the information provided.

8. A company receives $176, of which $16 is for sales tax. The journal entry to record the sale would
include a

a. debit to Sales Tax Expense for $16.

b. credit to Sales Taxes Payable for $16.
c. debit to Sales Revenue for $176.

d. debit to Cash for $160.

9. Treasury shares are
a. shares issued by the U.S. Treasury Department.
b. shares purchased by a corporation and held as an investment in its treasury.
C. corporaté shares issued by the treasurer of a company.

d. acorporation's own shares which have been reacquired but not retired.

10.When the selling price of treasury shares is greater than its cost, the company credits the difference to
a. Gain on Sale of Treasury Shares.
b. Share Premium—Treasury.
Share Premium—Ordinary.

d. Treasury Shares.
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On June 30, 2014, Wayne, Inc. sold $4,000,000 (face value) of bonds. The bonds are dated June 30, 2014,

pay interest semiannually on December 31 and June 30, and will mature on June 30, 2017. The following
schedule was prepared by the accountant for 2014.

Semi-Annual Interest to Interest Bond
Interest Period be Paid Expense Amortization  Carrying Value
$3,900,000
1 $160,000 $175,500 $15,500 3,915,500
Instructions

On the basis of the above information, answer the following questions. (Round your answer to the nearest
dollar or percent.)

1. What is the stated interest rate for this bond issue?

2. What is the market interest rate for this bond issue?

'S

. What was the selling price of the bonds as a percentage of the face value?
4. Prepare the journal entry to record the sale of the bond issue on June 30, 2014.

5. Prepare the journal entry to record the payment of interest and amortization on December 31, 2014.




